= LAPPSET. P14540

FLORA
DATE: 8.7.2022
DET 32
900240 8x70 929917/
P14507 909859
929917 (M20x50)
929918
909859
929918 M20
909859
904450
P14509
‘{7/ ‘ O 1O =—1
T g e
Q4450 A = X

e}

co ok S° <o

Q ge g Q

° %0 $O0° oo
ge 0° Q7 gege

Copyright Lappset Group Ltd

go c° o° Q
ok so
O udo do, Oo

VY e e e
Concrete / Betoni K30




% LAPPSET.

CUBIC

DATE:

Q81172

Copyright Lappset Group Ltd

26.11.2019




8 LAPPSET.

Q81172

CUBIC 2(7)
DATE: 26.11.2019
(1) 909248  |pcs|(2) 909633 |pes|(3) 929426 |pes|(4) 980150  |pes|(B) 909520  |pes|(B) 909253 |pes
150 12 4] 39 4] 23]
D) &
Y | | & \— &
[ ]
M12 ] M8 | wiexioo || M8 | eson7 | | es2p135,2 ||
(7) 980154  |pcs|(®) 980152  |pes|(9) 905051  |pes|0) 980151 |pes|()) 909256  |pes|(2) 929914 |pes
72 12 Ead 24 12 4
S|+
@24/13 ] @24 /8.4x2 ] 224/8.4 ] 216/8.4 ] 216/8.4x1.6 | wmiextio ]
(3 909130 |pcs|(4) 909142  |pes|(D) 900958  |pes|(6) 906498  |pes|(7) 909097  |pes|(8) 905827 |pes
56 24 27, 12 12
e ¥ < e | |aW
M12x120 ] M12x70 ] M10x30 ] M8x110 ] M8x60 ] M8x20 ]
906630  |pcs|@D) 980123  |pcs|(2) 908057  |pes|@2) 707632 |pes|@3 708291 |pes|@4) 909053 |pes
4 2 50 1 1 12
Y X fp
e @) || Bs
8x60 | 7xe0 | @32/29-15/30] | ] @145 | ]
@5 909057  |pcs|@9) 909067  |pes|@7) 909069  |pes|@8) 909318  |pes|@9 909326 |pes|G0) 909282 |pes
9] : 5] 16
3D 909317  |pcs(32 909278
e L
- 2139.7x1970 2139.7x1970
3|62 909287  |pcs 910405  |pcs PCS PCS PCS PCS
(D N —A —A —A —A —A —
- 6 6
gn) I I — — — I
[oR
8
<
2
5, I I I I I I
§ M8x80 90x90x30




Copyright Lappset Group Ltd

% LAPPSET.

CUBIC

Q81172

DATE:

26.11.2019

3(7)

+7900

+7420

+6850

+5920

+3530

+5030

+4410

+3950

+2830

+2370

+1600

+0

-




Copyright Lappset Group Ltd

Q81172
ngll.CAPPSET@ DATE:  26.11.2019 4(7)

DET 13
| DET 3
DET 6 ‘ />/

DET 7-8 Vo
DET 5
910405 909318
DET 14
DET 9-12

1

DET 1-2




% LAPPSET.

Q81

172

CUBIC 5
DATE: 26.11.2019 7
DET 1 DET 2
] 230/17
| (78N M16
o il
O o O
cH Qe 00 Wl
Q O O e} O
() o) Oo O
0o\ 9294706 ° o
o O o O o O o O
DET 3 DET 4 DET 5 DET 6
o - 980123x2 S 009945 P
909071 909274 (7+60) L 9092532
707632 H 708291 ﬁ m m — p
9066504 MT 909142 x4
J00958x8 (8x60) 980154x8 (M12x70)
(M10%x30) rt
DET 7 DET 8 DET 9 DET 10
980150x2
20205, o = 980150
/ ﬂ Ne—=
909053 - :
905051x4 : 909057 _—
906496x2 -ﬁ, 908057
900240x2 (M10x110) it 905057

906498
(M8x110)

909256

909053 980152

909633

Copyright Lappset Group Ltd

(M8x110)

DET 13 DET 14

9090897x2 980150x2

(8x60)
909287*

980151x4 (8x80)

* Use 909287 (8x80) for pre tightening,

then add 909097 (8x60) another hole

and replace with 909287 (8x80) to
909097 (8x60).

905864
909067




Q81172
g’BII-cAPPSET(@ DA 26.11.2019 6(7)




8% LAPPSET. Q81172
DATE: 26.11.2019

CUBIC




% LAPPSET.

GAME WALL

M80 DATE:  4.11.2019 1(2)
(1) 903176 |pes|(2) 909850  [pes]
"]\ 4] 4]
DET 1,2
| wmexes ||
(3) 909256 |cs|(2) 909633 [Pcs|
8 4]
&y
016/8.4x1.6 | | -
(5) 980123 |pcs Pes|
4] |
*Note: o7x60 | | B
No gaps between:
38—25mm
89—230mm
COLOR OPTIONS
—701  BLUE
—702  YELLOW
—-703  LIME
—704  DARK GRAY
- —705  LIGHT GRAY
—-706  RED
~707  GREEN
vt —708  FUXIA
10 @] 2
9l - OJs
o ||IB B

*Note

*Note

Copyright Lappset Group Ltd

800

800




% LAPPSET.
M80

GAME WALL

DATE:

4.11.2019

2(2)

GAME WALL OPTIONS

706766

706772

706308

707453

640x702

640x702

640x702

640x702

707209

705705

707433

7073586

Copyright 1998 Lappset Group Ltd

\E

(909633)

640x702 640x702 640x702 640x702
709403 709358 709405
640x702 640x702 420x702
DET 1 YN DET 2
(909850)9[X5?76
@ |
316 /8.4 < 3 7%60
(909256) 1 (980123)
:
@ g




Copyright Lappset Group Ltd

% LAPPSET.

704431

CLOXX & FINNO DATE:  8.7.2015 1(2)
= (1) 707133 |pes|(2) 901868 |pcs|
2
10x80x745 @30x598 | |
(3) 908021 |pes|(4) 909210 |pcs|
4
(D
MBx40 | |
(5) 909256 |Pes|(6) 905051 |pes
4
216,/8.4 @24/8.4 | |
(7) 909855 980160 |pcs
4
W
M8x35 ms | |
DET 1
v

DET 2




Copyright 1998 Lappset Group Ltd

% LAPPSET.
CLOXX & FINNO

704431

DATE: 8.7.2015

2(2)

DET 1
M8x40
(909210)
924/8.4 — //
(905051)
M8
(980160) L
716 /8.4 M8x35
(909256) (909855)
DET 2
901868
@ (905051)
\M
(909210)
DET 3
O
O
O
! )
i1 A ‘ 7
B D”\ QQ R QQ Q QQ b N
Qe = QQ ‘ Q R ‘QQ
PQ Q 91 Q4 FaQ aQo Qy\\<< »
e s B 2 Q9 SO L B
Va
/00




Copyright Lappset Group Ltd

8 LAPPSET. POLE
DEEP FOUNDATION  pam: 1552014 1(1)
(1) 905086 [pes|(2) 909214 [pcs]
244/13.5 M12x50 | |

D44 /13.5

(905086 )

M12%x50
(909214)




Copyright Lappset Group Ltd

% LAPPSET.

711467

DATE: 22.4.2024 1(2)
(1) 900240 |pes|(2) 900342 |pcs|
4] 2]
o
o8x70 | | Mexi6 | |
< DET 1 (3 901900 [res|(®) 901939 [pcs|
S NE 1
P =2 1]
i ZANNY)
<l h)i%
||‘ S R)
;\!,b'@%’/ ” 20.5x36.2x56| | M12x70 | |
L (5 909850 [res|(5) 980150 [rcs
4 b ! -
N 0 || @
DET 2 M8x25 | | Me | |
(7) 901182 |pes((8) 901902 |pcs|
] 2]
g
@11/M8x40 | |30.7x60.9x100 |
U (9) 905086 [°Cs|((Q) 909214 |PCs|
5> o 1]
1 o
DET 3 901916
044/135 | |  wMi2x50 | |
(1) 907698 |Pcs|(12) 907695 [Pes
909519 K El
503 %
M L -
@33.7x2054
e g (13 901916 |pes|i4) 909519 |pes
+1370 T 1]
033.7x650 |13| 50x380x380 | |

+0

340

PCS




% LAPPSET.

711467

Copyright 1998 Lappset Group Ltd

DATE: 22.4.2024 2(2)
DET 1 DET 2 901900
re ring
e o (909850) (509633)
MExT16
/(900342)
O
901902
90/695
211 /M8x 40
Y8x /0 (901182)
(900240) MBx16
(900342)
DET 3 DET 4
O
901600 il Nl S
901596 u e
l < 901590
MWZX7O
T (901939)

Wf




#® LAPPSET.

711506

Copyright Lappset Group Ltd

FLORA DATE:  22.4.2024 1(1)
(1) 708407 |pes|(2) 980100 |Pcs|
1 161
DET 1 W
H "/ | ]
700x1400 @5x60
) el )
o) P
P \@ u -
V el )
~/( - | N
s P
ol P
DET 1
v
Jox60




% LAPPSET.
FLORA

711508

22.4.2024

DATE:

1(1)

Copyright Lappset Group Ltd

DET 1

(1) 708471

B

(2) 980110

PCS

DET 1

J4x 55




#® LAPPSET.

711509

Copyright Lappset Group Ltd

FLORA DATE:  17.4.2024 1(1)
‘ (1) 708473 |pes|(2) 980110 |Pcs|
. 1 4

DET f di:’

DET 1

J4x350




% LAPPSET.

FLORA

711512

Copyright Lappset Group Ltd

DATE: 24.10.2024 1(2)
(1) 710488 |pes|(2) 903093 |Pcs|
/ 1 8
68x120x2400| |  @8x90 | |
(3) 708694 |pes|(4) 900240 |pcs|
1 60
730x2405 | | @8x70 | |
(5) 710489 |pes|(6) 708701 |pcs|
1 6
68x120x2400| | 28x200x2555 |
(7) 705208 pcs|(8) 705209 |pes]
@ 4] @ 2]
32x120x880 | | 32x120x880 | |
(9) 708710 [pcs|i0) 980110 |pes]
10 20
H | oaxss |
| : pes((11) 980125 [pcs|
{ - E 12
| emso |




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

DATE:

711512

24.10.2024

300

INSTALLING BRIDGE

245 240 245

@8x90 mm
// °1 Drill preholes (9mm)
' ””ﬂ', before installing
g ‘ @8x70
74
,'b' |
E

530




Copyright Lappset Group Ltd

8 LAPPSET. 711534
FLORA DATE:  12.6.2024 1(1)

(1) 900240 |pcs((2) 907724 |pes|(3) 909633 [pes|(4) 909868 |pes|(5) 980152 |Pes|
4 - 2 4 4 4
v | | | = | @ 1 ]
2 5} ’ (@ v
@8x70 | | 3x115x110 | | M8 | | M8x50 | | @24/8.4x2 | |
(® 710171 |pes
o 1]
45x145x1031 |
?}\ 7
DET 1

DET 2 DET 3

907724

®
024 /8.4x2 | 900240 Loy

M8x50

J%
@




Copyright Lappset Group Ltd

% LAPPSET.

705203

FLORA DATE:  22.4.2024 1(2)
(1) 705190 |pes|(2) 705199 |pcs|
) § i
L=2400 | | I
(3 705272 |res|(a) 705528 |pcs|
— % —
(5) 705529 |pcs|(6) 980104 |Pcs|
1] i
S

| esxe0 |
(7) 905087 |pcs((8) 909137 |Pcs|
4 4
q ] ]

DET 3 %
| wizxeo |
(9) 909248 [rcs|(i0) 980128 [pcs|
d 16

S,

=
M2 | | e7xa0 | |
(1) 980154 |pcs [PCs|
4] -
@24/13 | | ]
PCS PCS
PCS PCS

‘ 800 ‘




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705203

FLORA DATE:  22.4.2024 2(2)
DET 1 DET 2 DET 3
= @7x40
/05528 705190

/05529

/05239

909157/

=
A

980154

NOTE
Center boom
grooves accurately
to the roof truss.
Leave no gaps!
HUOM

Asena puomi
keskelle kattotuolial
Ald jatd rakojal

NOTE:

Head of the element
to the end of groove.
HUOM:

Flementin pdd

uran pdadhdn.

/705199

NOTE:
Install

booms

in to the cut
of the roof truss

Leave
HUOM:

no gaps!

Asenna puomit

kattotuolin loveen.
Ald jgtd rakoja!

N~
980104




% LAPPSET. 711535

Copyright Lappset Group Ltd

FINNO DATE:  11.9.2024 1(1)
(1) 900240 |pes|(2) 707304 |pcs|
2] 5 1]
p8x70 | | ]
Pes((3) 909256 [pcs|
- 2]
016/8.4 | |

PCS PCS
DETI ] ]

PCS PCS

PCS PCS

PCS PCS
DET 1 - -
' PCS PCS

e o PCS PCS
- B H

909256
716 /8.4
900240

?8x70 — ]




o
-
a
a
=
o
_
@]
-
0]
(%]
a
aQ
S]
—
-+
<
2
~
>
o
o
O

% LAPPSET.

FLORA

711546

DATE: 10.9.2024 1(2)
(1) 709891 |pes|(2) 709892 |pes]
3 2
DET 1 28x700x885 | | 28x700x795 | |
(3 710171 |pes|(a) 903533 |pcs|
/ - -
DET 2, 3 - -
- 45x145x1031 SRL12 TO @9
I' N (5) 980100 [pcs|(6) P10210 [pcs|
’ DET 5 21 1]
) N B
/
(LA
‘\
!L/ @5x60 | | 45x120x1030| |
P PCS PCS
DET 4 (7) 900240 |pcs((8) 907724 |pcs|
8 4
I o —
2
» o
@8x70 | | 3x115x110 | |
(9) 909633 |pcs(i0) 909868 |pes|
8 8
e | @ |
. M8 | | wmsxso | |
N} PCS PCS
8

@
©
@
Q
N

@24 /8.4x2

PCS

PCS

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET.

711546

DATE: 10.9.2024 2(2)
DET 1 DET 2
90/724
v D
N
024 /8.4x2
DET 3 DET 4
J\ .
900240 | o
v
9 P5%60
& X
@H(
DET 5
0

@i 903533

Note: Plug holes




#® LAPPSET.

DATE:

711555

11.9.2024

1(2)

DET 1 - 3

45x120x1031

(2) 907724

<]

PCS

2

(3) 980152

(4) 909868

N7

M8x50

(6) 909633

oy

M8

PCS

Copyright Lappset Group Ltd

1131




% LAPPSET.

711555

DATE:  11.9.2024 2(2)
DET 1 DET 2
907724
/ D
. M3
P24 /8.4x2
DET 3

900240
©

:(‘

e I

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

711559

DEEP FOUNDATION DATE:  12.9.2024 1(3)
(1) 905051 [pes((2) 909519 |Pcs|
2] 2]
=
@24/8.4 | | 50x380x380 | |
(3) 909867 |Pes|(4) 909633 |pes
2] 2|
=

(909248)

ROPE LADDER COLOR OPTIONS

/%/ 706462-303  BEIGE
@8x90
903093 =
L
p
Pre Drill (X]
==




Copyright Lappset Group Ltd

% LAPPSET.
DEEP FOUNDATION

711559

DATE: 12.9.2024

2(3)




Copyright Lappset Group Ltd

#® LAPPSET. 711559

CONCRETE FOUNDATION: 129202 3(3)

W\ Q
Concrete % )
1000x500x500 O

Concr de
1000x500x300




#® LAPPSET.

71 1 567 4 points

DATE: 12.9.2024

1(1)

DET 1,2

(1) 903176
v

Pes|(2) 905827

7

M8x20

PCS

(3) 909256

216/8.4x1.6

pes|(4) 909633

oy

M8

P08265 C) 980123

o) | &

@7x60

ms() P08265

12x550x702

DET 1

M8x20

716 /8.4

(909633)

DET 2

Copyright Lappset Group Ltd

800

B/x60
(980123)




711568

DATE

% LAPPSET.

1(1)

(1) 980128 |pes|(2) 909256
8

12.9.2024

PCS

8]

PCS

PCS
PCS

216/8.4
(3) 909743

PCS

PCS
PCS

[

B7x40

DET 1

909745

~

DET 1

geENEeEEENNEi
/NN NENEENnl|
/NN EEEREN
gNNENENENEN|
[y iy
/NN EEEREN
Ly
/NN ENEaNni

—

\\\\Q\\\\\i
\\\\\\\\

i o e |

/| S — — ]

/x40
016 /8.4

p17] dnoug 18sddo 1ybiuAdon



711569

DATE

% LAPPSET.

1(1)

(1) 980128 |pcs|(2) 909256

12.9.2024

PCS

16

PCS
1

PCS

PCS

216/8.4
(3) 909744

705x1212

16|
PCS

PCS

PCS

@7x40

DET 1

909744

<
ZaE N
N _//

~

DET 1

geENEeEEENNEi
/ENENNENENEN|
/INENEEREERENI
gaNeNENENEN;
Ly rrrry iy
I rrrrrrngy <
Ly ryrrryygy x
/NN ENEaNni M
[yl ryyg

O

[yl
\\\\\\\\\\\\\\\\w\r}t

i o e |

/| S — — ]

016 /8.4

p17] dnoug 18sddo 1ybiuAdon



% LAPPSET.

711586

DEEP FOUNDATION  paATE:  28.8.2024 1(5)
| ‘ﬂl‘ DET 1, 2
N
| ¢
// Z DET 3

DET 4

DET 5

DET 6, 7
DET 8
SLIDE OPTIONS
+1970
704409—001 NATURAL
704409—-614 FLORA BROWN
WALL OPTIONS
706371
706371—707  GREEN

Copyright Lappset Group Ltd




% LAPPSET

711586

80M DATE: 28.8.2024 2(5)
(O sLDE  |res(O) 706371 |pes|(C) 706505 [pes|(C) 901868 [pes|(1) 903093 |Pes|(2) 909876 |pes

Kl 2 [ |2 ] ML 2]

+1970 | | 15x345x750 | | 35x70x730 | | @34x598 | | @exo0 | | wm8x40 | |

(3 980100 |pes|(a) 980128 |Pos|(5) 999561 |Pes Pes|

12 11 iy 1

—o —o ': —-o/ —o

@5x60 | | @7x40 | | 109 | | -
901868
L7
706371

ie
5
Q
3 \
&
3
al
Q) 0
5 0
00
& < 706505
=
Kol
5]
3
O




% LAPPSET.

711586

80OM DATE: 28.8.2024 3(5)
DET; 99 ({:@ DET 2
: % <f%%//%ﬁ CSIPORAUS
o o S ~_— | PRE DRILL
05%60 S
(9807100) J8Ex90
4 (903093)
706505
-— , 706371
O ] .
o o i \: \\ I :
1IN :
2.5 % ™
DET 3 DET 4
901868 999561
N
70637
)
\a\
@7 x40
(980128)

Copyright 1998 Lappset Group Ltd

DET 5

(980128)




% LAPPSET

711586

DEEP FOUNDATION DATE: 28.8.2024 4(5)
(O 707133 |res|(O) 901868 |pos|(0) 901879 |pes|(6) 909210 [pes|(7) 905051 |Pes|(8) 980128 |pes
2 K 2 4 4 6
/ (P> E
10x80x745 | | @30x598 | | | wMex40 | | w@24/84 | | o7x40 | |

Copyright 1998 Lappset Group Ltd

901868

707133




% LAPPSET 711586
DEEP FOUNDATION DATE: 28.8.2024 5(5)

DET 6
90187/9 7 A0

Insert sheet metal IN to the
plastic cover.

DET 7 DET 8 901868

M8x40
(909210)

024 /8.4
(905051)

/07133

@ 024 /8.4

905057
901868 /I\ ~_ M8x40 ( )

(909210)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

711595

Copyright Lappset Group Ltd

FLORA DATE:  18.9.2024 1(1)
(1) 708710 |Pes(2) 709046 |Pcs
2 1
A ‘D, %
1 b B -
T o (3) 903093
28x90 ] @4x40 ]
e e
P P
DET 1

160

420

905095

DET 2




Copyright Lappset Group Ltd

% LAPPSET.

711598

DATE: 18.9.2024 1(2)
(D 711597 |pres((2) 706443 |pcs|
1] al
| 32xa5x702 | |
(3) 900240 |csi(4) 980101 |pes|
8
@8x70 | | @45x70 | |
(5 711437 |pcs Pos|
I 2] -

—

DET 1
32x45x750 | | ]
PCS PCS
(L
DET 2
DET 3—4




Copyright Lappset Group Ltd

% LAPPSET.

711598

DATE: 18.9.2024

DET 1

711598
24.5x70 |
'
J . ;
g i
||||| —
-

DET 2

DET 3

54

00

0T

DET 4

ATTH Pre drill

11437
/11445




S
L \(J
N\
N —N

\—
\
\
\

N\

—
\
\
A

DET 1

% LAPPSET.
FLORA

= |//¢' —

NS ‘
A

l:fi*
,@53"‘

—[2]2] [ [2]¢9] | 8]~ HEE HER | HEN 18] |
N o o o NN 8lm
=3 3 0| 3R 3|2
il —— |8 A @ LUS « 33 @ 8
_m o SEe NS MQ
S
S 0 © © ~  fo
8o HHEE | |8]e] HER 18] | | 18] | 18] |
3 3 52 8 .
= 8 —— 2|3 w S — X
~ ~ %@ &) S
©_ & ® i ©) ®
4
Q o
< S Ok I
o i = s W
O o A _ ,
M V 0 i
1 rl‘!s W I
- ), | - \
. m RS, W
° =T < 5 8
Z\& E————
\ ———




Copyright 1998 Lappset Group Ltd

% LAPPSET. 711640
FLORA DATE:  30.9.2024 2(2)
DET 1 DET 2
?8x90
(903093) (900240)
DET 3 DET 4
/‘
@24/8.4 >
(980152) ‘%;%% \
o ML
\\ 28x70 28x90
(900240) (903093)
DET 5 @D7x40 DET 6
(980128) \
\ ?8x90
;ﬁ““?jﬁi“ (903533)




ik

FLORA

LAPPSET.

711642

Copyright Lappset Group Ltd

DATE:  30.1.2025 1(2)
(1) 705222 |pes|(2) 708553 |pes)
It H 4]
%//0 i o / /
V2
"“‘,"“’r!l ! "ln DET 1-4 o
"» I,’Y)"; S |' 45x145x2480| | 32x45x1120 | |
P 0 b N
i‘ ” z‘i "?\" - (3) 711648 P;s@ 980101 g
il s /ﬂllln | L <7
Uiy 2 S
1 /7/ 1
‘ / > l | - -
O / " \l 2 32x612x788 24.5x70
|”\ ,/// | :\ / (5) 900240 [res|(8) 903093 |pcs|
NS /é Hi)} ‘\ 20 4
N Bl N B
2) 0
ORlN it Jr
J g8x70 | | wexo0 | |
+13570 —| L
+1180 1PCS| 1PCS]
+0 - -
PCS PCS

2400




i LAPPSET. 711642
FLORA DATE:  30.1.2025 2(2)
DET DET 2

D3x90 3% /0

903095 900240

Z |
I
DET 3 DET 4
4. .5x/0

930101

98 Lappset Group Ltd

Copyright 19




Copyright Lappset Group Ltd

8% LAPPSET.

FOOT 800

BETON FOUNDATION oAt 55201

Ssand O.2—27 mm
Gravel 2—8 mm

Concrete
H00x500x3500

(1) 903441

H

90x115x800

/

/00




Copyright Lappset Group Ltd

% LAPPSET.

909521

FINNO DATE:  15.6.2003 1(1)
(1) 909511 [pes|(2) 909519 [pcs|
1
(3) 909637 |pes|(4) 909638 |Pcs|
4 8 |
1@)
= &
Mo | | 201105 | |
(5) 909639 |pes| PS|
4 -
DET 1 i - -
M10x25
) P
) P
s s
DET 1 — -
909511 ] -
10x25

@20

909519

PCS

PCS




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




Copyright Lappset Group Ltd

% LAPPSET. FOOT
DEEP FOUNDATION DATE:  30.5.2024 1(1)
Sand 0.2—2 mm/
8 oravel 22— mm <@
T 8
()




% LAPPSET.

A00800

Copyright Lappset Group Ltd

FINNO DATE:  27.10.2020 1(2)
(1) 905827 PCs|
4
>
M8x20 N
(3 909256 |cs|(a) 980123 |Pcs|
i il
< —
216/8.4 @7x60
(5) 909633 |cs|(6) P05280 |Pcs|
4 1
1“ T ]
Z— [0
M8 | | 12x680x700 | |




#® LAPPSET.

A00800

FINNO DATE:  27.10.2020 2(2)
DET 1 905827 DET 2
903176 /é
@
016 /8.4
| 97x60

@/F

Copyright 1998 Lappset Group Ltd




;100

11.9.2017

A10196
DATE:

% LAPPSET.

FINNO

p3}1 dnoug 3jesddp yybrkdon



8% LAPPSET.

A10196

FINNO 3
DATE: 25.10.2024 a
004914  |pcs| 707918—705|pcs 900240 |pcs 903533 |pcs 905086 |pcs 911159 PCS
1 1 6 4 024
@8x70 SRL12 @44 /13.5 GREY @22
905801 PCS 905811 PCS 905821 PCS 905829 |pcs 911158 PCS 905850 |pcs
36 36 2 2
GREY GREY GREY TRANSPARENT GREY
905859 |pcs 905860 |pcs 909205 |pcs 909248 |pcs 909274 |pcs 980150 |pcs
2| 476 4| 4
ST ‘©>
S % o
Bx80x850 8x60 M12 8x30 M8
980151 PCS PCS PCS PCS PCS PCS
8
216/8.4
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
o I I I I I I
=
§ PCS PCS PCS PCS PCS PCS
5 i i i it b it
© | I - - - -
2
Q|
S
<
o)
i~ - - - - - -
5
(@]




% LAPPSET.  A1019
DATE: 11.9.2017




Copyright Lappset Group Ltd

% LAPPSET.  A1019

FINN
0 DATE: 11.9.2017 4b
905850 905850 905850
Q
\ O
MWD
S
905850 905850 905850

905860

905859
\. 016 /8.4

M8




Copyright Lappset Group Ltd

% LAPPSET.

A10196

DATE: 11.9.2017 5a
905829 905829 05811 905801 05811
905829 905829m9058ﬂ 905801 905811
905821 905821 905801 905811 905801
905821 905821 905801 905811 905801
905801 05811 905801 05811 905801
905801 905811 905801 905811 905801
905811 905801 905811 905801 905811
905811 905801 905811 905801 905811
05811 905801 05811 905801 05811
905811 905801 905811 905801 905811
905801 905811 905801 905811 905801
905801 905811 905801 905811 905801
905801 05811 905801 05811 905801
905801 905811 905801 905811 905801
905811 905801 905811 905801 905811
905811 905801 905811 905801 905811
05811
905811
905801
905801




Copyright Lappset Group Ltd

% LAPPSET.  A1019

FINNO
DATE:  11.9.2017

Esimerkki putken kokoamisesta

- - REIKIEN NUMEROT
Example of installation

NUMBERS FOR HOLES

LIUKUPINTAAN EI SAA TULLA
LAPINAKYVIA MODUULEJA!

NO TRANSPARENT PIECES ON
SLIDING SURFACE!

® 00, © 2 ©
o0 © 00, O[] 00 ® ©

16 18 20

®
®
A

905850

Position of the box: 127/ degrees




8% LAPPSET.

FINNO

A10196

DATE: 25.10.2024

Valmiiksi kasattujen osien osakokoonpanot ja vara-osa listat.

Ready installed component subassemblies and spare part list.

>

N\ =%

905829
905829
905821
905821
707918—705 909205 x 12 980150 x 12
= ®
911158 x 40 909208 x 16 909119 x 16

B@W

909252 x 13
05811 H
905811
700413 x 1
905801
905801 m
909205 x 16 |980150 x 16 |911158 x 32
909206 x 8
o= ® §;’
905850 909208 x 8 |980151 x 8
@ .

Position of the box: 127 degrees

Copyright Lappset Group Ltd




% LAPPSET.

TUBE INSTALLATION GENERAL

PLATE AND RINGS

Copyright 1998 Lappset Group Ltd

FINNO DATE: 25.10.2024
b
905837
TUBE 911158
706512 M8x60
Boom (909205)
Out Side & 905WW2/
= 911159
DET 3 ET A MBx60 905112/
905112 905831/ (909205) \ 911159
911159 911158
5 M &
(980150)
905831
9m58/
M8
DET 5 " DET 6
\p M8
SBE LRI (909208)

911159

905112/

off N\ M8x60

(909866)

905831/
317158

}' '

)
0

T
Plug the hole
what you don’t need

@8x70
900240

Drill through the

holes you need




A10197
DATE:

% LAPPSET.

finno

11.9.2017

100

£89/1

¢/G8

00

LS

2000

0LS¥

p3}1 dnoug 3jesddp yybrkdon



8% LAPPSET.

A10197

finno 3
DATE: 25.10.2024 a
004914  |pcs| 707918—705|pcs 900240 |pcs 903533 |pcs 905086 |pcs 911159 PCS
3 1 6 4 957
@8x70 SRL12 @44 /13.5 GREY @22
905801 PCS 905811 PCS 905821 PCS 905829 |pcs 911158 PCS 905850 |pcs
70 70 6 6
GREY GREY GREY TRANSPARENT GREY
905859 |pcs 905860 |pcs 909205 |pcs 909248 |pcs 909274 |pcs 980150 |pcs
2| 940 4| 4
ST ‘©>
S % o
Bx80x850 8x60 M12 8x30 M8
980151 PCS PCS PCS PCS PCS PCS
8
216/8.4
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
o I I I I I I
=
§ PCS PCS PCS PCS PCS PCS
5 i i i it b it
© | I I - - -
2
Q|
S
<
o)
i~ - - - - - -
5
(@]




% LAPPSET.
finno

A10197

DATE: 11.9.2017

4a




A10197

8 LAPPSET.

4a 1

DATE: 21.10.2019

p17 dnouts jasddp 3jybrikdon



A10197

8 LAPPSET.

4a 2

p}7] dnouas jesddpr yybrihdon



A10197

% LAPPSET.

4da 3

py}7] dnouds jesddpr yybrihdon



Copyright Lappset Group Ltd

% LAPPSET.  A10197

finno DATE: 11.9.2017 4b
905850 905850 905850
Q
\ O
MWD
A ;V’;‘:, ‘,:p‘,,ij_,_} ,P ’;:V/JL:P , 7, »p%
905850 905850 905850

905860

905859
\. 016 /8.4
MS




Copyright Lappset Group Ltd

% LAPPSET.

A10197

finno 5
DATE:  11.9.2017 a
905829 905829 05811 905801 05811
905829 905829m9058ﬂ 905801 905811
905821 905821 905801 905811 905801
905821 905821 905801 905811 905801
905801 05811 905801 05811 905801
905801 905811 905801 905811 905801
905811 905801 905811 905801 905811
905811 905801 905811 905801 905811
05811 905801 05811 905801 05811
905811 905801 905811 905801 905811
905801 905811 905801 905811 905801
905801 905811 905801 905811 905801
905801 05811 905801 05811 905801
905801 905811 905801 905811 905801
905811 905801 905811 905801 905811
905811 905801 905811 905801 905811
05811 905801 05811 905801 05811
905811 905801 905811 905801 905811
905801 905811 905801 905811 905801
905801 905811 905801 905811 905801
905801 05811 905801 05811 905801
905801 905811 905801 905811 905801
905811 905801 905811 905801 905811
905811 905801 905811 905801 905811




Copyright Lappset Group Ltd

% LAPPSET.

finno

A10197

DATE: 11.9.2017

Sb

05811 905801 05811
905811 90580 905811 905801
905801 905811 905801 905811

905801 905811 905801

905801 905821 905821

905811 905829

905829

905811 905821 905821

905811

905801 905827%%¢1%%<T:§\\905827%%41%%§j:§\\

905801

05811

905801

905801

905811




Copyright Lappset Group Ltd

% LAPPSET.

finno

A10197

DATE: 11.9.2017

Esimerkki putken kokoamisesta

Example of installation

LIUKUPINTAAN EI SAA TULLA
LAPINAKYVIA MODUULEJA!

NO TRANSPARENT PIECES ON

SLIDING SURFACE!

REIKIEN NUMEROT
NUMBERS FOR HOLES

® 00,
70705 ©) 4@ ]
o0 @9 00 ®M® :
® B 18@
@22@ ©0, ©) ®

29 31

8

6

33

g

e




Copyright Lappset Group Ltd

% LAPPSET.  A10197

finno
DATE: 11.9.2017

6b

Esimerkki putken kokoamisesta
Example of installation

LIUKUPINTAAN EI SAA TULLA
LAPINAKYVIA MODUULEJA!

NO TRANSPARENT PIECES ON
SLIDING SURFACE!

REIKIEN NUMEROT
NUMBERS FOR HOLES

‘

Position of the box: 127/ degrees

41

42




% LAPPSET.  A10197

finno DATE: 25.10.2024 7 a

Valmiiksi kasattujen osien osakokoonpanot ja vara-osa listat.

Ready installed component subassemblies and spare part list.

\ 905829
905829
905821

905821

707918-705 909205 x 12 |980150 x 12

D= ®

gs
\ 911158 x 40 [909208 x 16 [909119 x 16

5%%% © G;ﬂ@“m

\y

909252 x 13

44

05811 H
905811

700413 x 1

905801 m

909205 x 16 |980150 x 16 911158 x 32

905801

909206 x 8
o ® é%’
905850  [909208 x 8  |980151 x 8§

@ .

Position of the box: 127 degrees

Copyright Lappset Group Ltd




% LAPPSET.

A10886-001

DATE:

16.7.2024

DET 1, 2, 7

1(4)
©) Pes(2) 711186 [Pes|
711185-001| 2 1
68X95%2230 | | 32x95x2086 | |
(® 711193 |res|(a) 711195 |pes|

2] 5|
\\\//,
68x95x1363 | | 32x677x1360| |
(5 913291 |res|(6) 913296 |Pes|

2 4

/

J

2x108x1640 74x162x748
@ 711196 |rs(®) oS
2 [711197-001| 2

/

10x42x2090

/

45X120X2490

Copyright Lappset Group Ltd

(17) 980100 |pcs

25x60

(12 980128

<

@7x40

(13 909639

M10x25

901302 |Pcs|

@20/10.5x2

(15 905090

e

905115

@

230

(17) 903093 [pcs

903533

<

SRL12




% LAPPSET.

DATE: 16.7.2024

A10886-001

2(4)

750

300

2290 \Ij‘

—

T

2380

|7

‘ NOTE!
The angle
is variable.

Copyright Lappset Group Ltd

DET 5,6 ~ [

> Y
Ml ™N\_DET 5.6




A10886-001

DET 2

% LAPPSET.

3(4)

DET 4

980100
05x60 O\
915291

980128
G740

DET 1

930100

DET 3

980128

PY1 dnoJiy 19sddp| 8661 JUPIAJO)



Ltd

% LAPPSET.

DATE:

16.7.2024 @

DET 5

M10x25

(@E) CE;Q E}()EB()EJ()
901502
9096 39
905115

N -
c5 iii!;':||||0

DET 6
Fnd of ramp boom

%/

This hole is
for fixing screw of
the outermost Iath

DET 7

7I8x90
{]

DET 8

Upper end

903533

L,
903 ﬂ

et Group

ight 1998 Lapps

DET 9

Lower end

903533

903093

28%x90 )

Copyr




#® LAPPSET. 705230

FLORA DATE:  17.4.2024 1(1)

Copyright Lappset Group Ltd

(1) 705210 |pes|(2) 903093 |pes

I —— K 0

@8x90

PCS PCS
PCS PCS
PCS PCS

DET 1
?8x90
[ (903093)

[




Copyright Lappset Group Ltd

% LAPPSET.

705258

FLORA DATE: 24.5.2022 1(1)
(1) 706443 |pes|(2) 705257 |Pcs|
12 i
32x45x702 | | 32x750x750 | |
(3 900240 |pes|(a) 980101 |Pcs|
8
28x70 | | @45x70 | |
3 30 N N
(@]
2
£3 30
800
DET 1 DET 2 DET 3
4 5%x/0
[@N
706443 )

N\

@3x/0

, 3

(i
D
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705262

DATE:  30.3.2020 1(2)
(1) 705248 |cs|(2) 905083 |pes
il K 4]
- | 4]
DET 1, 3 2 ‘4 ‘\\f\\;\\“
I DET 2, 3 I
< (3 905112 [pes|(4) 909232 [pcs]
g lil 4 4
L ® ||=|
[l @22 | | esxa20 | |
(5) 980151 |pcs(6) 900240 |pes|
4 16
o16/84 | | @8x70 | |
U
J — -
o o o =
[k {
I {
db db ddb b
[1 [T [T
800 2400




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705262

FLORA DATE:  30.3.2020 2(2)
DET 1 032 DET 2
ATT |
Pre drilling
» Pomm
JEx /0
@éxﬂdL/// (900240)
909232
716 /8.4
980151
@22
905112
DET &
Jmjil HJ@[
L)
@)
@)
LO)
@)
jmjin G @[ N
L)
L)
l |




Copyright Lappset Group Ltd

#® LAPPSET.

FLORA

705368

DATE:  20.6.2024 1(2)
(1) 705643 |pes|(2) 705367 |pes
6 / n
RIAIRY NNV | |95x1005x1365 |
Wi \' (3) 902439 [rcs|() 902474 [pcs
| | | \ - : 1
a7 ®

\ DET 2, 3 AP QY
TN (5) 905103 |pcs|(6) 909256 |pes
12] 12]

N IIRG
PT-28/32-H| | @o16/8.4 | |
(7) 980161 |pes|(8) 980165 |pcs|
0 2 2

o | € ©
7 Mo | | o24113 | |
DET 1 (9) 980128 |pes| Pcs|
12] |
o7x40 | | T

+1470

+0

i

Bl a J?L%?E

400

980




Copyright 1998 Lappset Group Ltd

% LAPPSET. 705368
FLORA DATE: 20.6.2024 2(2)
DET 1 DET 2 @W6/8,4
" (909256)
324 /153 @7x40
(980165) Q%i (980128)
M10
(980161) >\

@@

®

®
9051038 /

705643 /%

DET 3 g7x40

(980128)
V16 /8.4

(909256)




% LAPPSET. 705375

FLORA DATE: 26.8.2024 1(2)

(1) 701092 |pes|(2) 705331 |pes

15x120x700 45x645x1670
(3) 705363 |pcs|(2) 701090 |pes

VY

L 2120 95x1005x1365
(5) 701091 |res|(6) 900240 |pes

1] 8
DET 1, 3, 4 \ — <7

Copyright Lappset Group Ltd

95x1005x1369 @8x70
(7) 909256 |pcs((8) 909855 |pes|
DET 6 4 4
Wl
S| |

216/8.4x1.6 | | M8x35 | |

(9) 980107 |pes|ig) 980123 |pes|

13 4

S ]

P

g6x60 | | @7x60 | |

(1) 980128 |pes| Pes

T H o

' @7x40 | | N

33 P o)
— O

=8 I B

PCS PCS
o

~ [ —
i




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705375

FLORA DATE: 26.8.2024 2(2)
DET 1 DET 2
""
XN 8
/
WBEx /0
216/8,4 (900240)
(909256)
MExI5D
(909855)
DET 3
Woxo0

(980107)

/x40

(980128)

DET 5

/x40

(980128)

(980123)

DET 6




SLIDE WOOD

% LAPPSET

1(1)

22.5.2015

DATE:

DEEP FOUNDATION

m
7 s »
o S
-
py s
o < %
M~
o
% o AN%
| Q

P31 dnou9 jesddo geelL 1ybrihdo)




8 LAPPSET SLIDE WOOD
BETON FOUNDATION pat: 225.2015 1(1)

Copyright 1998 Lappset Group Ltd

/00x200x100

i V
YRR Q- asqail | 7L
’ N
CONCRETE j
4 700




% LAPPSET. 706234

DEEP FOUNDATION DATE:  6.10.2023 1(5)

g

DET 1, 2

=

DET 3

DET 4

DET &
DET 6, 7

DET 8

SLIDE OPTIONS

+870
706452—-001 NATURAL
706452—-614  FLORA BROWN

WALL OPTIONS

Copyright Lappset Group Ltd

706371 -
706371—707  GREEN




% LAPPSET

706234

80M DATE:  6.10.2023 2(5)
(O sLDE  |res(O) 706371 |pes|(C) 706505 [pes|(C) 901868 [pes|(1) 903093 |Pes|(2) 909876 |pes
1] 2| i [2] ] M 2| 2]

+870 | | 15x345x750 | | 35x70x730 | | @34x598 | | @8x90 | | wex40 | |

(3) 980100 |ps|(4) 980128 [pes|(5) 999561 |pes| Pes
12] 1 : 1| -
o5x60 | |  e7x40 | | B ]
901868
L7
706371

ie
5
Q
3 \
&
3
al
Q) 0
5 0
00
3 = 706505
=
Kol
5]
3
O




% LAPPSET.

706234

80OM DATE:  6.10.2023 3(5)
DET; 99 ({:@ DET 2
: % <f%%//%ﬁ CSIPORAUS
o o S ~_— | PRE DRILL
05%60 S
(9807100) J8Ex90
4 (903093)
706505
-— , 706371
O ] .
o o i \: \\ I :
1IN :
2.5 % ™
DET 3 DET 4
901868 999561
N
70637
)
\a\
@7 x40
(980128)

Copyright 1998 Lappset Group Ltd

DET 5

(980128)




% LAPPSET

706234

DEEP FOUNDATION DATE:  6.10.2023 4(5)
(O 707133 |res|(O) 901868 |pos|(0) 901879 |pes|(6) 909210 [pes|(7) 905051 |Pes|(8) 980128 |pes
2 K 2 4 4 6
/ (P> E
10x80x745 | | @30x598 | | | wMex40 | | w@24/84 | | o7x40 | |

Copyright 1998 Lappset Group Ltd

901868

707133




% LAPPSET 706234
DEEP FOUNDATION DATE:  6.10.2023 5(5)

DET 6
90187/9 7 A0

Insert sheet metal IN to the
plastic cover.

DET 7 DET 8 901868

M8x40
(909210)

024 /8.4
(905051)

/07133

@ 024 /8.4

905057
901868 /I\ ~_ M8x40 ( )

(909210)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

HPL

WALLS 4 points

Copyright Lappset Group Ltd

DATE: 29.3.2016 1(2)
T (1) 903176 |pes|(2) 909850 |pcs|
PN A 4]
N\ - ))]))
DET 1,2 ||fc] 3
| mexes |
(3) 909256 |pes|(4) 909633 |pcs|
oy
216 /8.4x1.6 | | -
(5) 980123 |pes| pes
4 |
o7x60 | | ]
PCS PCS
O | |
Uﬁ =
U
D’ b —
[@]m)
0o Qo
0
0oa 00
8 0o DB _ u’l\)
~ o (@[] —
3 =
1
800




8 LAPPSET@ WALLS 4 points

Copyright 1998 Lappset Group Ltd

HPL DATE:  29.3.2016 2(2)
g v DET 2.3 N DET 2,3
5 al f Al
g s Sl ° off
~ ) q ®
®
®
®
1 il 1 1
DET 1 YEN DET 2 |
(909850) 903176
216 /8.4 g‘ O 7x60
(909256) 1(980123)
10mm plate M8
(909633)
DET 3
MEx25
<90985O>9[l3ﬁ76
216 /8.4
(909256)
15mm plate \ M8
(909633)




% LAPPSET.

DIAG. FLOOR

Copyright Lappset Group Ltd

FINNO DATE: 28.3.2014 1(1)
(1) 008985 |pes|(2) 706508 |pcs|
1 3
32x714x714 | | 32x45x650 | |
(3) 900240 |pes|(2) 980101 |pcs|
6
DET 1 9 -
DET 2 o8x70 | | wa5x70 | |
DET 1
DET 3
U¢ %
N
WL ?8x70
UJ (900240)
DET 2 DET 3
/706508 @4.5x70
(980107)

(900240)




% LAPPSET.

BOOM

FINNO DATE:  21.3.2014 1(2)
o~ (1) 706510 $@ 907724 ?
M / ” J
45x120x1030| | ]
(3) 905083 |pcs|(4) 909866 |Pes|
4 4
DET1 -3

e

232 M8x60
(5) 980151 [pes|(6) 980150 |Pes|
4] 4
) |

‘ ©)

@ | @
o16/8.4 | | -
(7) 905112 |pes|(8) 900240 |pes
i i

222
BOOM OPTIONS
706510 706510-602  DARK BROWN
T T I 706510—-605  LIGHT BROWN
706510-604  LIGHT GRAY
45x120x1030

Copyright Lappset Group Ltd




% LAPPSET.
FINNO

BOOM

DATE: 21.3.2014

2(2)

DET 1

DET 2 M3x60

(909866) /
S

(980151)
M8

(980150)

90//724

905112

DET 3

=

[\

Q

Z]
B8x /0

(900240)

Copyright 1998 Lappset Group Ltd




% LAPPSET.

FINNO

RINGS

DATE:

11.12.2024

1(2)

I

DET 1

(1) 980123

@7x60

(2) 980128

@7x40

PCS

2

Copyright Lappset Group Ltd

(O 708735 Pos| pos|
Al 1] H
Us’ \ L
U
Ef  I—  I—
RINGS OPTIONS
706735—301  BLUE
M 706735—-302 RED
706735—303  BEIGE
706735—-304 GRAY
n n 706735-305  BLACK
706735—-306  YELLOW
5
S
DET 1
/x40
(980128)
[ (980123)
800




% LAPPSET.

FINNO

RINGS

DATE: 11.12.2024

2(2)

Copyright Lappset Group Ltd

370
167
==
=)
&
i [T
800
567 370
== ==
=)
£
[T
1600




% LAPPSET.

FINNO

DATE:

DESK

27.7.2015

1(2)

DET 4, 5

(1) 706727

10x702x640

(2) 706744 |pcs

(3) 901570

36x55x55

903176 |PCs

Copyright Lappset Group Ltd

206744 (5) 909855 §@ 909850 %
W T
||
Mex35 | | Mex2s | |
(7) 909256 |Pcs|(8) 980150 |pes
DET 1 - 3 8 ©
(&) ©)
&
016/8.4x1.6 | | -
| (9) 909633 |pes|i0) 980123 [pes|(1]) 905112 |pes|
4 4 4
= DET 6 @ ,
— Me | | emeo | | @22 | ]
- WALL OPTIONS
706727 706727-701  BLUE
706727-702  YELLOW
706727-703  LIME
- 706727-704  DARK GRAY
706727—-705  LIGHT GRAY
. o 706727-706  RED
3 ° .~ 706727-707  GREEN
— 10x640x702 706727-708  FUXIA
<
WALL OPTIONS
706744 706744  DARK GRAY
i 15x145x380
800




Copyright 1998 Lappset Group Ltd

% LAPPSET.

DESK

FINNO DATE:  27.7.2015 2(2)
DET 1 DET 2
/ 0727 |
M8y 35 e /06 /44
/m> 301570
| 901570
IRNY:
(980150)
oy OET 4 M8x25
(905112) (809850) 903176
 MBx25
(909850)
016 /8.4 216/8 4
(909256) (909256)
706744 ?
N M8
S (909633)
@ (980150) 0 Q
DET 5 DET 6 D16 /8.4
(909256)
903176
A g
é@) 37460 (909633)
1(980123) I
0~
)
& D760 1
@ (980123)
/@ MB8x25
(909850)




% LAPPSET.

PLATE

Copyright Lappset Group Ltd

FINNO DATE:  21.8.2014 1(2)
s (1) 706896 |pcs|(2) 903176 |pcs|
— %; o 2
15x150x703 | | ]
(3) 909850 |pes|(4) 909256 |Pcs|
DET 3 DET 1,2 2] 2]
|| &
M8x25 | | @16/8.4x1.6| |
(5) 909633 |pes|(6) 980123 |pcs|
2] 2]
@
M8 | | e7xe0 | |
s P
o B B
.l
OR
!
o P d
\%
[ [
800 800




Copyright 1998 Lappset Group Ltd

% LAPPSET.

PLATE

FINNO DATE: 21.8.2014 2(2)
DET 1 YL DET 2
90317/6 7¢¢L¢£
X
716 /8.4 a
@
(909258) I
g“ @7x60
1(980123)
@
\ M8
(909633)

DET 3

(909633)

@16 /8.4
(909256)

9031/6

) /x60

(980123)

/\/‘/
MEXx25
(909850)




% LAPPSET.

DIAG. WALL

FINNO DATE: 19.11.2014 1(2)
— (1) 706448 |pcs|(2) 907696 |pcs|
1 4
g DET 1-3 ] ]
o 1
/@] 10x640x1003| | ]
ﬂ{—.—. i —706448) (3 909850 |pcs|(4) 909256 |pes|
86 g- ), 4 4]
g e — <
Do 0 ‘
oo oo oo
0o o | |
M8x25 216/8.4x1.6
l (5) 909633 |pes|(6) 980123 |pcs|
Il 4 dl
_DET 4-6 @
me | | o7xe0 | |
(7) 706898 |pcs| pes
il T |
706898
10x150x1003 | | ]
WALL OPTIONS
706448 706448-701  BLUE
706448-702  YELLOW
706448-703  LIME
706448-704  DARK GRAY
706448-705  LIGHT GRAY
-~ 0o S 706448—706  RED
00 Bo 706448-707  GREEN
o0 a0 10x640x1003 | 706448-708  FUXIA
oo, © ]
g 0o S WALL OPTIONS
D b 706898 706898  DARK GRAY
| I |
il |
0 D 10x150x1003

Copyright Lappset Group Ltd

131




Copyright 1998 Lappset Group Ltd

% LAPPSET. DIAG. WALL

FINNO DATE: 19.11.2014 2(2)

DET 1 DET 2

M3
(909633) 216 /8.4

(909256)

907696

) Oi
» ©
/ M8x25
(909850)
DET 3 DET 4
M&
(909633) ©16/8.4
///// (909256)
@ . g 907696
i E
Q@QK -

@ /x60
(980123) M8x25
(909850)
DET 5 DET 6

@{:@@ 07x60
(980123)




Copyright Lappset Group Ltd

% LAPPSET.

707440

FINNO DATE: 23.3.2016 1(1)
OPTIO 1 o~ (1) 900240 [pesi(2) 980101 |pcs|
DET 1-3 12 )
28x70 | | @45x70 | |
PCS PCS
PCS PCS
OPTIO 2 (O 706443 |pes|() 707435 |pcs|
I / i |
32x45x702 | | 750x770 | |
(O 707436 |pes|(0) 707437 |pcs|
750x770 | | 32x45x1502 | |
pes() 707441 [pcs|
| 7s0x770 | |
DET 1 DET 2 DET 3
Naulanauha kannatinlistan puole|le.
04.5x70
(980101)

] |




Copyright Lappset Group Ltd

% LAPPSET.

707515

FINNO DATE: 14.10.2016 1(1)
(1) 900240 |Pes|(2) 980102 [pes
< 14]
@8x70 | | @5x40 | |
[T~ DET 1-3

FLOOR OPTIONS

707327 707327-701  BLUE
707327-702  YELLOW
707327—-703  LIME
707327—-704  DARK GRAY 1l |
707327—705  LIGHT GRAY
707327—-706  RED | 800
707327—-707  GREEN | |
15x375x750 707327—708  FUXIA
DET 1 DET 2
O
o 27 I
706508 C o | o
!
706508
(900240) ©08x/0




707585

1(1)

15.3.2016

DATE:

PCS

PCS

pesi() 707303 [pes

1]

PCS
PCS

(1) 900240

@8x70

(O 707302

1]
f \

(O 707304 [pes(C) 707305

% LAPPSET.

FINNO

900240
@8x70

DET 1

DET 1

p}7] dnous jesddp yybrihAdon



16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOvANEH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

i
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET.

GRIP

FINNO DATE:  18.1.2016 1(1)
(1) 900240 [pes|(2) 900727 [Pes
1 §§§§§§ 1
| M _
3)
N | _
B M10x80
PCS PCS
. _ |
(3 907688 [Pss|(3) 907701 [Pes|
L 1]
765 B | _
PCS PCS
- PCS PCS
DET 1 ) __ __
Ox80
Pre—dril
100 Hole. | ___
ooz oo

M1
(9\77)%)

N

PCS

PCS

Copyright Lappset Group Ltd

SET 3

—

PRE—-DRILL HOLE.

St

870
(900240)

PCS

PCS

PCS

PCS




% LAPPSET.

FINNO

707792

Copyright Lappset Group Ltd

DATE: 23.6.2016 1(3)
(1) 980100 |pes|(2) 980104 [Pcs|

- DET 1 48 32
) @5x60 | | @5x90 | |
(3) 909230 |pes|(4) 900208  |pcs|
8] 8]
8x150 | | Miox170 | |
i (5) 905051 [pes((6) 901302 [Pcs|
DET 4-5 8 8
DET 2 @24/84 | | @20/105 | |
(7) 900965 |pes|(8) 903533 |pes|
8] 8]

Mio | |srLi2 To @9 |

PCS PCS

2860 I L
(O 707667 [pes|(C) 707688 |pcs|

8] 8]

10x1295x1075 | 45x70x1385 | |

“ “ (O 707689 [pes|() 707691 |pes
_ 18] 1
45x145x1495| | 15x@480 | |

DET 3 /

(O 707692

-

15x@225

PCS




% LAPPSET. 707792
FINNO DATE: 23.6.2016 2(3)

DET 1 DET 2

T \ /
Tzt N

Tighten AFTER roof plates are assembled

Copyright 1998 Lappset Group Ltd

DET 3 Check measures

2820




% LAPPSET. 707792
FINNO DATE: 23.6.2016 3(3)

DET 4 .

my




Copyright Lappset Group Ltd

% LAPPSET.

707871

FASTENER KIT DATE:  3.10.2017 1(4)
(1) 900859 |pes|(2) 903093 |pcs|
@/ i @M i
M8xo0 | | @8xe0 | |
(3) 905083 |pes|(4) 905112 |pes
4] d
DET 9 <®

32 | | w22 | |
DET 5 (5) 909117 |pes|(6) 909233 |pcs|
2 4
M8x100 | | @8x100 | |
| (7) 909256 |[pcs|(8) 909633 |pcs|
: 22] d

’ DET 4, 7 \/
DET 1| || |

J 216 /8.4x1.6 M8

(9) 980106 |pcs|10) 980123 [Pcs|
50| 52]
I o5x40 | |  @7xe0 | |
DET 6 980128 |Pes|i2) 980151 |pc
F o 4]
o7x40 | | o1e6/8.4 | |
(13 980152 [pcs|(i4) 980158 |Pcs|
6] 50)
@24/8.4x2 | | wo12/6.4 | |
POS) eS|




% LAPPSET. 707871
FASTENER KIT DATE:  3.10.2017 2(4)

1820
(TOP OF BOOM — CENTER OF HOLE)

-
/7

(TOP OF BOOM — CENTER OF HOLE)

1880

1200

Copyright 1998 Lappset Group Ltd

‘ 1600
L —
i . ol
o
o o
0
[ | : =)
—




% LAPPSET. 707871

FASTENER KIT DATE: 3.10.2017 3(4)
DET 1 DET 2
TOP: BOTTOM: .~

07x40 Q7772 =
(1 (980128)

. 08x90 Z7
A 707772 | (903093)

A\ s

Copyright 1998 Lappset Group Ltd

DET 3 DET 4
1O
CENTER o
BOTTOM BOTTOM
932
0 /x60 (905083) =
(980123) 0| | p16/8.4
707779 PN
022 (909233)
(905112)
DET 5 DET 6
024 /8.4x2 N
(980152) o M8x90
M8 > 024/6.4x2 N (900859)
(909633) \_MBx100 S80192) AW || L

(909117) M&
(909633)




Copyright 1998 Lappset Group Ltd

% LAPPSET.

707871

@7x40 (center)

FASTENER KIT DATE:  3.10.2017 4(4)
DET 7/ DET 8
Rerreey 707779
)
(980106) JERE &
MOUNTING
012/6.4 HOLES ON THE &S
(980158) BOTTOM . ;/
J16/8.4x1.6 S
(909256)
?7x60 (post) ;>§7

DET 9

212 /6.4
(980158)

@5x40
(9801086)

/07788

/07789

BOOM OPTIONS

BOOM OPTIONS

707772 707772—602 DARK BROWN| 707780 707780—-602 DARK BROWN
A 707772—603  LIGHT BROWN 707780—603 LIGHT BROWN
707772—604 LIGHT GRAY 707780—604 LIGHT GRAY
700x120x2000 45x120%x2045
BOOM OPTIONS HPL OPTIONS
707778 707778—602 DARK BROWN| 707779 707779-701 BLUE
707778—603 LIGHT BROWN ;8;;;8—;8§ Eﬁh%ow
707778—604 LIGHT GRAY 707779—704  DARK GRAY
707779—705 GRAY
707779-706 RED
707779—707 GREEN
707779—708 FUXIA
45%95x1950 15x145x2086




% LAPPSET. 707888
FASTENER KIT DATE:  16.3.2021 1(3)

— (1) 980128 |cs|(2) 900240 |pes

@7x40 @8x70
(3) 903093 |pcs|(2) 906942 |pes

@8x90
(5) 980101 |pcsi(6) 980104 |pes

-

@4,5x70 @5x90

DET 9—-10

< 1760 } — —

I

760
850

(O 707862 |pcs PCS

* N

32x45x1700 | |

(O 707861 |pes() 707860 |pes

\

750x590 45x120x1785
(O 704341 |pes() 704431 |pes

Copyright Lappset Group Ltd

E}>




Copyright 1998 Lappset Group Ltd

#® LAPPSET.

707888

FASTENER KIT DATE: 16.3.2021 2(3)
DET 1 DET 2
§ 4 5%70
DET 3 DET 4
@8x90 \
906942 \\

NN

SURFACE MOUNTING (704341)

DET 5

DET 6




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FASTENER KIT

707888

DATE: 16.3.2021

3(3)

DEEP MOUNTING (704431)

DET 7

DET 8

/x40

DET 9

600




#® LAPPSET.

708437

Copyright Lappset Group Ltd

FLORA DATE:  17.4.2024 1(1)
(1) 708595 |pes|(2) 980100 |Pes|
@ 1] 116
DET 1 700x1100 | | ©5x60 | |
% . .
Qﬁ - .
DET 1
.
Joxo0
] ]




% LAPPSET.
FLORA

708901

Copyright Lappset Group Ltd

DATE: 17.4.2024 1(2)

(1) 708374 [pcs|(2) 708370 [pes

2 8

690x704 | | 28x200x1100| |

(3) 708873 |pes|(4) 708874 |pes

aa i

28x200x1100| | 28x200x1100| |

(5) 708469 |pcs|(8) 903093 |pes|

1 9

93x93x200 | | @8x90 | |

(7) 980100 |pcs] Pes|
40

?5x60

PCS

PCS

PCS




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

708901

DATE: 17.4.2024

DET 1

K8x90
(903093)

DET 3

DET 4 DET 5 DET 6
Line up edges
e [P S99
| )
: : /s < Add middle
: : 7 \ of roof chair
DET 7 DET 8 DET 9




% LAPPSET.
FLORA

708903

Copyright Lappset Group Ltd

DATE: 22.4.2024 1(2)
DET 5 () 708374 [res|(2) 708372 |Fes
3 8
690x704 | | 28x200x2000 |
(3) 708896 |Pcs|(4) 708898 |pes
1] 1]
28x200x2000| | 28x200x2000 |
(5) 708469 |pcs|(8) 903093 |pes|
1 13
93x93x200 | | @8x90 | |
(7) 980100 |pcs] Pes|
60

PCS




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

708903

DATE: 22.4.2024

DET 1

K8x90
(903093)

DET 3

DET 4 DET 5 DET 6
Line up edges
L
/ }
s < Add middle
// ‘\ of roof chdlr
~150 ( =
DET 7 DET 8 DET 9




	Q81172.pdf
	Q81172 1
	Q81172 2
	Q81172 3
	Q81172 4
	Q81172 5
	Q81172 6
	Q81172 7

	705203.pdf
	705203 1
	705203 2




